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Run 4555 triggerwise, sums: All

Entries: 4169131

Mean: 4526.6562 +/- 2.1573

Std Dev: 4404.8621 +/- 1.5254

Run 4555 triggerwise, sums: All
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Run 4555 triggerwise, sums: Beam OFF

Entries: 3801

Mean: 1208.4922 +/- 13.3943

Std Dev: 825.7888 +/- 9.4712

Run 4555 triggerwise, sums: Beam OFF
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Run 4555 triggerwise, sums: Beam ON, Laser ON
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Entries: 1363084

Mean: 5103.7905 +/- 4.3120

Std Dev: 5034.3606 +/- 3.0491

Entries: 1361701

Mean: 5111.8523 +/- 4.3192

Std Dev: 5040.1819 +/- 3.0541

Run 4555 triggerwise, sums: Beam ON, Laser ON
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Run 4555 triggerwise, sums: Beam ON, Laser OFF
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Helicity==1
Entries: 706096

Mean: 3424.3613 +/- 2.9459

Std Dev: 2475.4525 +/- 2.0831

Entries: 705554

Mean: 3439.1537 +/- 2.9717

Std Dev: 2496.1239 +/- 2.1013

Run 4555 triggerwise, sums: Beam ON, Laser OFF
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